A FARIE @A o, 250 o] Y= A2

=1

@ 1 9] o] 2. @ 2 o] =o] Y2t
@ 4 o] &ol Y2t @ 5 ] Fol 2t

® 6 9] Fo] Y2},

REED



=01 e FHYNA T&

4 7N, ok & 5 707t

® 7714

@ 4714
7
©®

@ 3 71A]
@ 9 7}A]

]



@ 107

® 15 7

@ 20 7

N
N
N
N
e

® 25 7

rE

1%



@ 8714 ® 16 714

® 30 7}A]

@ 4 744
@ 24 7}7]



5.

A& o2 A7Zo] Y] Apo] Mg
FE?
@ 2 74 @ 4 714

@ 8 714 G 12 7}4

® 6 7HA]



Flr++

G
&R
A~

T (7

@ 3714
@ 674

Zof 1904 1571A] 47} 2442+
”’—Oﬂl"} SF 7H_,] —J—% ﬂ%q [qL

@ 4714
® 7714

® 574



7. FH FAS A, B E A @RE o, v =2 ol 5 olskel

o A
7§_l_o Tt‘o

@ 6714 @ 7714 ® 8714
@ 9714 ® 107}A]



721,02, 8, 0, 20 2 A A 2 7tE oA dom ot A
EHe o, 49 HH# EE 79 T e Bee BF 2 7Y
“stofet.




O
i
ny
o
X
ny
al
—_
N
3
<H
A
!
o
Hr
]
n/.
~
o
~
~
Ny
K 15
A=
WF
No T

@ 24 714 ® 30 714

@ 4714
@ 60 714

® 124 7}



@D 1207H4 @ 60 7}4 @ 4874
@ 207}A 3 24 7}A]



11. 2914 97k 9] S2247F Z42F 2] 84 9] 7FEoA + 4

3
A2) 42 WEE A 90] 49

@ 18714 @ 24714 ® 36714
@ 567FA] B 647}FA]



12. 479 £271= 0, 1, 2, 3914 332 Hol wh= uf, 210Kt 2 A5
- S P

@D 87 ® 971 ® 1174 @ 1270 ® 1470



A, B, C, D Y] & ZollA of

13.

7HA]

Ct-
=R



x9 ol x = a, b, col, yO] ol y = 1,2,3,4%0 &= follA

14.

o=t

S

7}A]



15.

tF& 1 ol 3 719] B A, B,C 2 Uhrlold
Aol glet. 4744 Mo g FRste] 53
3 Asteln & v, A% 4 Qi BE 290

2 Ffoler.

v

o 744




® 21 ® 42 @ 48 ® 120

@D 20



17. A, B, C, D, E 9] st& 571 9] o]x}o] oFs]& 11 et oluf, A7}
O, B7I @W 2]Atof k= 7H-9-0] £~5 Lotoigt,

FHFH S

> R 714




18. ol S th319] 10741 ol WISHAE, ol telo 1

& Bol g FeiT G, 4 WE BE F

@D 487} @ 60714 @ 1207}A4
@ 360714 ® 720714



19. A SolM H F7HA] Hd 72z o5 o, § P& 74

=9
1
P
S
@ 67FH4] @ 9714 ® 12714

@ 157}A4] ® 18714



ilf]

L_L

7h



21
. AFE
A 55
Yool 28 aitre
S €, 502
Folet. s
S AHES
8-5}o]
300 ¢
_dﬁ.
S A &3
st

> ¢
7HA]



22. The T 2L o] gtk AcIA B7HA b Hg AR o] S

B

@ 1574 @ 2074 ® 35744
@ 407}A4] ® 45714



23.

ok 183 2ol 8714 o o] it A
Aol A] Este] BAGIIA 2Tkt &
otoi o, PAHE HHEA] GhATH A}

o) 48 Tsjelel.

S ER 744







25. 10 21+ 1+8 2 Uepd 4= Qlt}. o]et Fo] 10 & 3 7He] A9
to 2 et e 25 9 7hx]91x] Estofal, (B 1+ 1+8
1+8+1,8+1+1 72707 3

b2
Kol
—

a Ct- 7HA]



